Negation part 2
Elicited by Sylvia Reed, 2/16/2008; Session 12(08-09); Track 128
7. Cha
robh

Iain
a’
rùsgadh
na
caoraich,
bha
Mairi.

not
be.past.dep
John
prog
shear.vn
the.p
sheep.p
be.past
Mary

‘John wasn’t shearing the sheep, Mary was.’

8. Chan
eil

Iain
a’
rùsgadh
na
caoraich.

not
be.pres.dep
John
prog
shear.vn
the.p
sheep

‘John isn’t shearing the sheep.’

9. Cha
bhi

Iain
a’
rùsgadh
na
caoraich.

not
be.fut.dep
John
prog
shear.vn
the.p
sheep

John won’t be shearing the sheep.

10. Nach
robh

Mairi
a’
giùlan

an
uisge?

NegQ
be.past.dep
Mary
prog
carry.vn
the.sm
water

‘Wasn’t Mary carrying the water?’

11. Nach
e
sin
Mairi
a’
giùlan

an
uisge?

NegQ
3sm
dist
mary
prog
carry.vn
the.sm
water

‘Isn’t that Mary carrying the water?’

12. Nach
bi
Anna
a’
bleoghainn
na
ba
nuair
a
ruigeas
Iain?

‘Won’t Anna be milking the cows when John arrives?’

13. Cha
robh
Alastair
air
càl
ithe.

‘Alastair hadn’t eaten anything.’

Note: ‘càl’ literally means cabbage; as a negative polarity item it can also mean ‘anything’, much like ‘jack’ or ‘jack shit’ works in English (e.g. ‘He didn’t know jack about particle physics)

a. Bha
Alastair
air
càl
ithe.

‘Alastair had eaten cabbage.’

Note: Showing the literal interpretation when not an NPI.

14. Chan
eil

Alastair
air

ithe
fhathast.

not
be.pres.dep
Alastair
perf/on

eat.vn
yet

‘Alastair hasn’t eaten yet.’

15. Cha
bhi

Alastair
air

ithe
fhathast.

not
be.fut.dep
Alastair
perf/on

eat.vn
yet

‘Alastair won’t have eaten yet.’

16. Nach
robh

Anna
air
an
t-arbhar
cheangail
fhathast?

NegQ
be.past.dep
Anna
perf/on
the 
corn

tie.vn

yet

‘Hadn’t Anna tied the corn yet?’

17. Nach
eil

Iain
air
fàgail

fhathast?

NegQ
be.pres.dep
John
perf/on
leave.vn
yet

‘Hasn’t John left yet?’

18. Nach
bi

Iain
air

fàlbh?

NegQ
be.fut.dep
John
perf/on

leave.vn

‘Won’t John have left?’

19. Cha
robh

Alastair
air
a
bhith
a’
rùsgadh

not
be.past.dep
Alastair
perf/on
tran
be.vn
prog
shear.vn

na
caoraich,
bha
e
air
a
bhith
a’
leughadh

the.p
sheep.p
be.past
3sm
perf/on
tran
be.vn
prog
read.vn

leobhar.

book

‘Alastair hadn’t been shearing the sheep, he’d been reading a book.’

20. Chan
eil

Alastair
air
a
bhith
a’
rùsgadh


not
be.pres.dep
Alastair
perf/on
tran
be.vn
prog
shear.vn

na
caoraich.

the.p
sheep.p

‘Alastair hasn’t been shearing the sheep.’

21. Cha
bhi

Alastair
air
a
bhith
a’
rùsgadh

not
be.fut.dep
Alastair
perf/on
tran
be.vn
prog
shear.vn

na
caoraich.

the.p
sheep.p

‘Alastair won’t have been shearing the sheep.’

22. Nach
robh

Alastair
air
a
bhith
a’
rùsgadh


NegQ
be.past.dep
Alastair
perf/on
tran
be.vn
prog
shear.vn

na
caoraich?

the.p
sheep.p

‘Hadn’t Alastair been shearing the sheep?’

23. Nach
eil

Alastair
air
a
bhith
a’
rùsgadh

NegQ
be.pres.dep
Alastair
perf/on
tran
be.vn
prog
shear.vn

na
caoraich?

the.p
sheep.p

‘Hasn’t Alastair been shearing the sheep?’

24. Nach
bi

Alastair
air
a
bhith
a’
rùsgadh


NegQ
be.fut.dep
Alastair
perf/on
tran
be.vn
prog
shear.vn

na
caoraich?

the.p
sheep.p

‘Won’t Alastair have been shearing the sheep?’

25. Cha
b’

urrainn

dhòmh

caoraich
a
rùsgadh


not
cop.past
ability

for.1s

sheep.p
tran
shear.vn

roimhe
ach
[a nisde]
s’

urrainn
dhòmh.

before
but
now

cop.pres
ability
for.1s

‘I couldn’t shear sheep before but now I can.’

26. Chan
urrainn

dhòmh

caoraich
a
rùsgadh.

not
ability

for.1s

sheep.p
tran
shear.vn

‘I can’t shear sheep.’

27. Chan
urrainn

dhòmh
caoraich
a
rùsgadh
[a maireach].

not
ability

for.1s
sheep.p
tran
shear.vn
tomorrow

‘I can’t [won’t be able to] shear sheep tomorrow.’

28. Nach
b’

urrainn
dhòmh
caoraich
a
rùsgadh
idir?

NegQ
cop.past
ability
for.1s
sheep.p
tran
shear.vn
at all

‘Couldn’t I shear sheep at all?’

29. Nach
urrainn
dhòmh
[fiù’s]

fichead

punnd
a
thogail?

NegQ
ability
for.1s
even

20

pound
tran
lift.vn

‘Can’t I even lift 20 pounds?’

30. Nach
urrainn
dhòmh
mi
fhìn
a

bhi

a
dhadh?

NegQ
ability
for.1s
1s
self
WhComp
be.fut.dep
tran
feed.vn

‘Won’t I be able to feed myself?’

